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Jt 3 HERHET 22 54 24 30
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5\ ERET 68 168 72 96
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A% 3 HT 597 1,398 705 693
ZRIRHET 425 1,226 601 625
HFW—TH 312 885 445 440
FIWLW=TH 156 511 249 262
FW=TH 280 730 344 386
FWETH 126 414 211 203
SWWETH 141 461 224 237
FSRTH 205 634 311 323
SWETH 298 885 415 470
FW/NTHE 294 874 408 466
ERE—TH 4 7 5 2
EBRE=ZTH 467 1,413 702 711
ERE=TH 312 894 437 457
R EFET 210 403 214 189
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ho 3F BT 1,008 2,371 1,106 1,265
Pik il 95 191 80 111
= H BT 1,487 3,644 1,747 1,897
=R 552 1,410 674 736
HAicFEI—TH 297 625 290 335
RicFEIZTH 145 334 157 177
RicFET=TH 331 710 326 384
mieFH—TH 142 289 150 139
i =TH 416 1,130 571 559
BT =TH 446 1,171 577 594
AL FHETH 290 814 385 429
B FETATH 341 753 375 378
[(FE#hX] 8,147 19,253 9,213 10,040
ch ¥h = T 35 83 37 46
< T EHT 15 50 22 28
JC L FHT 57 144 65 79
FH_EHT 21 49 23 26
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= FRHET 2 2 0 2
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1E EIET 18 39 18 21
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b AR ET 156 351 163 188
A R R ET 587 1,528 740 788
IR H& dth 75 S (R BT 101 255 121 134
Rk Hh 75 PRI AT 32 76 35 41
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HIET 27 40 24 16
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EalcNEL 108 240 98 142
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Fa T iR ET 168 417 210 207
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A i T 61 128 48 80
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55 35 HT 3 7 2 5
B [T 22 59 25 34
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75 {1 5 BT 6 16 7 9
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£ [EHT 38 91 44 47
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Jt /) ERET 68 89 24 65
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Y8 = BT 1 4 2 2
A tEHET 73 152 72 80
JE i T 243 606 277 329
REFEFHET 1,645 4,076 2,003 2,073
pra Al 3,604 8,844 4,101 4,743
= H B ET 97 254 117 137
[(XE#X] 9,220 20,864 9,902 10,962
= KHEHT 555 1,369 651 718
= KXKHET 483 1,195 562 633
=] FaRT 174 442 218 224
= &HT 657 1,574 738 836
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St FHT 52 120 52 68
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= & KHET 434 919 428 491
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K=B—TH 527 1,125 522 603
AEBRZTH 951 2,416 1,161 1,255
RKER=TH 672 1,395 674 721
KEBTNTH 917 2,119 991 1,128
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K=HEI/RTH 116 190 101 89
KEBETH 142 315 154 161
& it BT 267 580 275 305
citB—TH 227 526 238 288
B —TH 468 1,099 506 593
2B =TH 620 1,252 618 634
BT T B 544 1,175 565 610
[(XZFHX] 4,288 11,375 5,497 5,878
KL FH 26 73 40 33
ZNE—TEH 350 962 483 479
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J\SEHT 46 121 63 58
I\E&—TH 173 480 226 254
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J\E_TH 2 8 5 3
J\E=TH 18 49 24 25
J\EWMTH 1 1 1 0
J\ERTH 14 29 18 11
RELEFH—TH 111 336 162 174
RELEFHB_TH 1 2 1 1
KEFH=TH 89 253 126 127
K&EF—TH 279 686 326 360
AK&EF_TH 237 614 289 325
KEF=TH 298 714 347 367
KEZFMUTH 224 665 319 346
KEFRTH 343 786 400 386
RELZFNTH 317 747 364 383
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NEZET—TH 108 256 114 142
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B b T 152 448 209 239
[(KR#HX] 10,984 26,956 12,934 14,022
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FARFHEETZTH 23 53 24 29
FARFHET—TH 496 1,149 563 586
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P R FAHT 215 386 176 210
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ARFER—TH 828 1,645 770 875
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HPOOHME_TH 306 704 337 367
HOOHME=TH 371 975 458 517
HOOHMEETH 239 592 272 320
HOOHMEATH 296 735 352 383
HOHMESRTH 485 1,127 556 571
HOOHMEETH 320 917 472 445
HOHME/\TH 165 459 227 232
HroHMIE—TH 161 459 217 242
HYOHMIL=TH 164 415 177 238
HYHMIL=TH 403 977 466 511
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FEFE=TH 352 820 387 433
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EHHBET—TH 218 596 267 329
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h&EX,sE=TH 131 389 202 187
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mEEsRE/IN\TH 388 1,060 491 569
BEEyE—TH 156 384 175 209
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HiEE—TH 75 229 122 107
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HEE=TH 94 270 130 140
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ERBMNTH 1,615 3,552 1,686 1,866
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AFRyE=TH 222 648 309 339
FEHEyE—TH 168 428 209 219
FEHyE=TH 172 477 222 255
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FIEIUE—TH 125 350 165 185
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FIFWATH 401 1,055 490 565
Eifdt—TH 768 2,116 1,028 1,088
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A ’a‘m—TE 260 711 332 379
WEE=TH 192 519 247 272
MI&-’-‘.T B 157 423 205 218
=M—TH 191 524 245 279
=M_-TH 82 197 97 100
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=HETH 40 89 42 47
=MARETH 19 59 27 32
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G AL 125 392 180 212
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#HI—TH 645 1516 717 799
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[ERHX] 2,400 6,111 2,888 3,223
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£R=TH 1,425 3,360 1,569 1,791
£R=TH 344 939 446 493
£R=MUTH 227 587 279 308
ERAETH 395 1,211 585 626
[(REH#X] 2,525 7,333 3,493 3,840
X¥E—TH 311 949 450 499
£EZ-TH 215 577 280 297
KEZ=TH 420 1,182 550 632
KEMTH 332 896 418 478
KREZRTH 974 2,852 1,371 1,481
XK¥EKRTH 273 877 424 453
[ERE#hX] 2,067 6,397 3,082 3,315
ER=—TH 358 1,107 542 565
ERZ=TH 812 2,525 1,203 1,322
ER=TH 669 2,122 1,024 1,098
ERMTH 226 641 311 330
ERZATH 2 2 2 0
[EriihX] 4,746 11,664 5,690 5,974
RALEHT 3,619 8,817 4,266 4551
75 LS HT 119 367 180 187
AT 545 1,339 658 681
AAKE—TH 84 209 112 97
FAAEHI=TH 167 412 207 205
FEAEH=TH 205 511 260 251
FAEHETH 3 5 3 2
FEAEHATH 4 4 4 0
[BREHBIX] 3,556 9,635 4,720 4915
Jt 7k FHET 520 1,519 733 786
dt 2 FEHT 264 738 371 367
FAJK FHT 757 2,016 973 1,043
0 S T 1,679 4543 2,243 2,300
H B B HT 236 662 303 359
Itz EMBET—TH 75 121 69 52
Itz ERET=TH 25 36 28 8
[EhihX] 3,386 7,923 3,748 4175
=l 2,235 5,001 2,316 2,685
Y& FHET 1 1 1 0
J\EHT 63 203 90 113
ERKHET 3 6 3 3
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e [ T 271 764 392 372
BEH-—TH 238 493 230 263
MH_—TH 190 407 206 201
BH=TH 66 235 117 118
BHITH 4 6 3 3
BAHATH 106 232 111 121
HHNATH 10 22 12 10
BHETH 7 24 11 13
[FfEh X ] 1,448 3,973 1,912 2,061
FEZEHRT 159 496 238 258
;th B AT 54 179 87 92
LI T 262 835 410 425
S ThHr 528 1,358 679 679
5 EMT 50 121 55 66
HH F ET 395 984 443 541
[(FBEHMX] 319 1,096 535 561
KAHT 53 175 87 88
KA ET 50 182 87 95
6 2 < T 14 48 22 26
A& E T 10 32 16 16
L ER/T 42 150 79 71
=R ILHET 19 67 35 32
= b BT 115 390 185 205
i Z2 ek T 16 52 24 28
[AE#HX] 776 2,354 1,123 1,231
¥ H BT 27 108 54 54
Z AT 103 195 70 125
X HIRHET 85 343 171 172
RAH 33 119 60 59
AL/ )1 BT 119 174 101 73
A H /R T 40 107 47 60
th 2z FEHT 27 110 52 58
th E HT 9 32 16 16
KEFHT 16 59 27 32
=k 33 119 57 62
2T 21 70 31 39
lae L0 18 65 29 36
A0 H ET 29 111 55 56
ZB L HT 19 72 36 36
£ ZFRHET 33 116 53 63
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HIE & 3 EHT 29 85 40 45
JK I ET 110 379 177 202
7l Fir BT 25 90 47 43
CIEFTH=Y] 465 1474 708 766
A0 A BT 94 308 148 160
N 89 196 98 98
i 4 [ T 47 166 78 88
£ Jth AT 113 366 170 196
RERHET 40 149 72 77
FHAE BT 61 217 109 108
Jt B7 LI HT 21 72 33 39
[RHnAE#h X ] 390 1,321 623 698
R4 BT 147 504 238 266
B J& BT 118 385 185 200
R EHT 36 142 70 72
A E | LHET 48 153 65 88
REALET 41 137 65 72
[EEE#IX] 331 1,046 500 546
28I’y 113 400 178 222
A FEHT 30 112 57 55
L AT HT 29 80 37 43
= EH BT 3 6 4 2
S5 KT 25 71 37 34
AT EHET 45 115 52 63
% AT 17 51 24 27
HOE I AT 21 70 37 33
ch /I BT 48 141 74 67
CGIETI) 196 618 292 326
£ )1 g BT 28 94 41 53
FE %K) 1| ET 30 91 43 48
S INEX:) 22 74 30 44
T3E)I BT 103 315 153 162
[ [ BT 13 44 25 19
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